

FIXED POINT THEOREMS FOR CONTRACTIVE MAPPINGS IN METRIC SPACES

ALEXANDER M. RUS, DANIEL T. BULEA

(Received March 17, 2005)

In this paper we extend Banach's and Kannan's fixed point theorems as well as some results of G. B. Shrivastava, S. W. Wong, M. Akhmedov, S. Karam, S. Hussain and C. S. Wong.

Our main result is the following

Theorem 1. Let (X, d) be a complete metric space and let $F: X \rightarrow X$ denote that for every $x, y \in X$ and $t \in \mathbb{R}^+$

$$(1) \quad d(Fx, Fy) \leq \alpha(t) \left(d(x, y) + \frac{d(Fx, x)d(Fy, y)}{2} \right) \quad \text{and} \quad \alpha(t) = \alpha(Fx, Fy) < 1,$$

if for every $x \in X$ denoted $d(x, Fx)$ notation for $\alpha(x, Fx)$

$$(2) \quad d(Fx, Fy) \leq \frac{d(Fx, x)d(Fy, y)}{2} \left(\alpha(x, Fx) + \alpha(y, Fy) \right) \quad \text{and} \quad \alpha(x, Fx) = \alpha(Fx, Fy) < 1,$$

then for every $x \in X$ the sequence $\{F^n x\}$ converges to a unique fixed point p , and $p = Fx$ if and only if $x = p$ with that for $x, y \in X$

$$(3) \quad d(Fx, Fy) \leq \frac{d(Fx, x)d(Fy, y)}{2} \left(\beta(x, Fx) + \beta(y, Fy) \right) \quad \text{and} \quad \beta(x, Fx) = \beta(Fx, Fy) < 1,$$

then F has a unique fixed point $p \in X$ and for every $x \in X$, the $F^n x \rightarrow p$.

Proof. Take an $x \in X$ and put $x_n = F^n x$, $n \in \mathbb{N}$. We can assume that $d(x_n, x_{n+1}) = d(x, Fx) =: k, k > 0$, from that

$$(4) \quad d(x_{n+1}, x_{n+2}) \leq d(x_n, x_{n+1}) = k, n \in \mathbb{N}.$$

For an indirect proof of (I) suppose that $d(\mathbf{x}_{n+1}, \mathbf{y}_n) \geq d(\mathbf{x}_n, \mathbf{y}_{n-1})$ for some $n \geq 1$. Assuming $x = x_n$, $y = \mathbf{y}_{n-1}$, $z = d(\mathbf{x}_{n+1}, \mathbf{y}_n)$ we have $d(\mathbf{F}x, \mathbf{F}y) \geq z$, $d(\mathbf{F}x, \mathbf{F}z) \leq d(\mathbf{F}x, \mathbf{F}y) \leq z$ and

$$d(\mathbf{F}x, \mathbf{F}z) + d(\mathbf{F}z, \mathbf{F}y) = d(\mathbf{x}_{n+1}, \mathbf{y}_{n+1}) \leq d(\mathbf{x}_{n+1}, \mathbf{y}_n) + d(\mathbf{y}_n, \mathbf{y}_{n-1}) \leq z + z.$$

Hence, using (I), we get $d(\mathbf{F}x, \mathbf{F}y) = d(\mathbf{x}_{n+1}, \mathbf{y}_n) \leq z$. This contradicts premise (I) and, consequently, the sequence $\{d(\mathbf{x}_{n+1}, \mathbf{y}_n)\}$ converges. We shall show that

$$(II) \quad \lim_{n \rightarrow \infty} d(\mathbf{x}_{n+1}, \mathbf{y}_n) = 0.$$

Suppose that $\alpha > 0$. Then there exists n_0 such that

$$z < d(\mathbf{x}_{n+1}, \mathbf{y}_n) < z + \alpha \quad \forall n \geq n_0.$$

Using (I) for $x = \mathbf{x}_{n+1}$, $y = \mathbf{y}_n$, we have $d(\mathbf{x}_{n+2}, \mathbf{y}_{n+1}) \leq z + \alpha$. This contradicts the previous inequality and proves (II).

Let us fix now $\alpha > 0$. Without loss of generality we can assume

$$(III) \quad d = d(\mathbf{F}) < \alpha.$$

By (II) there is a k such that

$$(IV) \quad d(\mathbf{x}_{n+1}, \mathbf{y}_n) < \alpha d, \quad \forall n \geq k.$$

We shall prove that

$$(V) \quad d(\mathbf{x}_{n+1}, \mathbf{y}_n) \leq \alpha + \beta d, \quad \forall n \geq k,$$

for $n = k, k+1, \dots$. By (IV) this is the case for $n = k$. Suppose that the inequalities (V) hold for some $n \geq k$. If $d(\mathbf{x}_{n+1}, \mathbf{y}_n) \geq \alpha$ then by (I)

$$d(\mathbf{x}_{n+2}, \mathbf{y}_{n+1}) \leq d(\mathbf{x}_{n+1}, \mathbf{y}_n) - d(\mathbf{x}_{n+1}, \mathbf{y}_n) = d(\mathbf{x}_{n+1}, \mathbf{y}_n) \leq \alpha + \beta d.$$

If $\alpha < d(\mathbf{x}_{n+1}, \mathbf{y}_n) < \alpha + \beta d$ then, by (I), we have that $x = \mathbf{x}_{n+1}$, $y = \mathbf{y}_n$

$$\alpha < d(\mathbf{F}x, \mathbf{F}y) \leq \alpha + \beta d, \quad d(\mathbf{F}x, \mathbf{F}z) \leq \beta d, \quad d(\mathbf{F}z, \mathbf{F}y) \leq \beta d,$$

$$\text{so } \alpha < d(\mathbf{F}x, \mathbf{F}z) + d(\mathbf{F}z, \mathbf{F}y) \leq d(\mathbf{F}x, \mathbf{F}y) + \alpha(\beta d) + \alpha(\beta d) = \alpha + \beta d.$$

Hence (V) holds $d(\mathbf{F}x, \mathbf{F}y) = d(\mathbf{x}_{n+2}, \mathbf{y}_{n+1}) \leq \alpha + \beta d$ and

$$d(\mathbf{x}_{n+3}, \mathbf{y}_{n+2}) \leq d(\mathbf{x}_{n+2}, \mathbf{y}_{n+1}) + d(\mathbf{x}_{n+2}, \mathbf{y}_n) \leq \alpha + \beta d,$$

and inductive arguments complete the proof of (V).

Now (V) and (IV) imply that $\{z_n\}$ is a Cauchy sequence and, since \mathcal{F} is complete, $\{z_n\}$ converges to a point $z \in \mathcal{F}$.

Suppose that the condition (I) holds and $\alpha = d(\mathbf{F}) > 0$. By the preceding part of the proof we can find k_0 such that $d(\mathbf{x}_k, \mathbf{y}_k) < \alpha d$, $d(\mathbf{x}_{k+1}, \mathbf{y}_k) < \alpha d$ for $k \geq k_0$. Hence, assuming $x = \mathbf{x}_k$, $y = \mathbf{y}_k$, we have $d(\mathbf{F}x, \mathbf{F}y) = \alpha d$, $d(\mathbf{F}x, \mathbf{F}z) \leq \alpha d$, $d(\mathbf{F}z, \mathbf{F}y) \leq \alpha d$ and

$$d(\mathbf{F}x, \mathbf{F}z) + d(\mathbf{F}z, \mathbf{F}y) \leq d(\mathbf{F}x, \mathbf{F}y) + d(\mathbf{x}_{k+1}, \mathbf{y}_k) \leq \alpha d + \alpha d < 2\alpha d.$$

Using (3) we obtain $d(F_n, F_{n+1}) = d(F_n, F_{n+1})$ if $n = p$. This implies

$$d(F_n, F_{n+1}) \leq d(F_n, F_{n+1}) + d(F_{n+1}, F_{n+2}) = d(F_{n+1}, F_{n+2}) < \epsilon - \delta$$

which is a contradiction and therefore $\mathcal{D} = \emptyset$.

The uniqueness of the fixed point follows from (2).

Remark 1. Suppose that for every $n \in \mathbb{N}$ there is a fixed point x_n of $d(F_n, F_{n+1})$ if and only if implies $d(F_n, F_{n+1}) = 0$, $n, n+1 \in \mathbb{N}$. Then (3) and (4) are sufficient and \mathcal{F} is continuous. Thus Theorem 1 generalizes the result of Ćirić and Ćirić [1].

2. We apply Theorem 1 to obtain a fixed point theorem which generalizes some results of Ćirić and Wang [3], Ćirić [4] and Wang [4].

Theorem 2. Let (X, d) be a complete metric space and let $F: X \rightarrow X$. Suppose that there exists a function $\alpha: X \times X \rightarrow [0, \infty)$ such that

$$(F1) \quad d(Fx, Fy) \leq \alpha(x, y) \left(d(Fx, x) + d(Fy, y) + \frac{d(x, Fx) + d(y, Fy)}{2} \right), \quad x, y \in X;$$

$$(F2) \quad \alpha(x, y, x, y) \text{ is increasing with respect to } x, y, x, y;$$

$$(F3) \quad \exists r \in [0, 1) \text{ s.t. } \alpha(x, x, x, x) \leq r;$$

$$(F4) \quad \limsup_{n \rightarrow \infty} \alpha(x, x, F^n x, F^n x) = 0 \text{ for } x \in X.$$

Then for every $x \in X$, the sequence $\{F^n x\}$ converges to a unique

$$(F5) \quad \text{fixed point } p \text{ of } F \text{ if } x \in \mathcal{D} \text{ for } x \in X,$$

where \mathcal{D} has a unique fixed point $p \in \mathcal{D}$ and $\lim F^n x = p$ for $x \in \mathcal{D}$.

Proof. Take into account (1) and condition

$$(F2) \quad \alpha(x, y, x, y) \leq \alpha(x, y, Fx, Fy) \text{ if } \alpha(x, y, x, y) \leq r.$$

In fact, if $x, y \in \text{conv}\{x, y, Fx, Fy\}$ then by (F2) we have

$$\alpha(x, y, x, y) \leq \alpha(x, y, Fx, Fy) \leq \alpha(x, y, x, y).$$

If $x, y, x, y \in \text{conv}\{x, y, Fx, Fy\}$ then by (F2) we have

$$\alpha(x, y, x, y) \leq \alpha(x, y, x, Fx) \leq r.$$

which proves (F5).

It follows from (F5) that for every $x \in \mathcal{D}$ there is a fixed point p such that

$$\alpha(x, x, x, x) \leq r \text{ and } \lim_{n \rightarrow \infty} \alpha(x, x, F^n x, F^n x) = 0.$$

Since condition (F4) is satisfied we easily obtain

$$(F6) \quad \lim_{n \rightarrow \infty} \alpha(x, x, F^n x, F^n x) = 0 \text{ for } x \in \mathcal{D} \text{ and } \alpha(x, y, x, y) \leq r.$$

Finally, the condition (3.4) implies that for every $\varepsilon > 0$ there is a $\mu_0 > 0$ of $\varepsilon < \mu < \varepsilon + \mu_0$ with

$$(3.5) \quad \beta \in (\nu_1, \nu_2) \cap (\mu - \mu_0, \mu) \cap (\nu_1 + \nu_2 - \mu, \mu + \mu_0).$$

The points (3.5) are just $\beta \in \text{int}(\text{sup } \mathcal{A}(\nu_1, \nu_2, \mu))$. By (3.5) there is a $\beta \in \mathbb{R}$

such that for $\delta \in (\nu_1, \nu_2) \cap \beta$ we have $\mathcal{A}(\nu_1, \nu_2, \delta) \in \mathcal{I} \cap (\mu - \mu_0, \mu) \cap (\nu_1 + \nu_2 - \mu, \mu + \mu_0)$. Evidently, $\beta \in \text{int}(\mathcal{A}(\beta, \beta) \cap \mathcal{I})$ satisfies the condition (3.4).

Now, setting $\nu_1 = \alpha(x)$, $\nu_2 = \alpha(x)$, $\mathcal{I}(x) = \nu_1 = \alpha(x)$, $\mathcal{F}(x) = \mathcal{A}(\beta)$, $\mathcal{F}(x) \cap \nu_1 = \mathcal{A}(\beta) \cap \nu_1$ (satisfying assumptions (4) and (4.1)–(4.3)) we obtain additional assumptions of Theorem 1 are fulfilled. This completes the proof.

Remark 2. If ν does not depend on ν_1, ν_2, ν_3 , then the condition (4) under the form $\mathcal{A}(\nu_1, \nu_2) \cap \mathcal{A}(\nu_3) \cap \mathcal{I} \cap (\nu_1, \nu_2) \cap \nu$, $\nu \in \mathbb{R}$. Suppose that $\beta(x) \in \nu$ for $x \in \mathbb{R}$ and ν is upper semicontinuous from the right. Then the conditions (3.4)–(3.5) are fulfilled, and, consequently, Theorem 1 implies the result of Bond and Wong [1].

Theorem 1 generalizes also the results of S. Balak [15], Th. 1 and C. S. Wong [17], Th. 1.

Remark 3. In this paper “increasing” means nondecreasing. Note also that Theorem 1 is identical a result by increasing with respect to the first variable (cf. Remark 2).

The author thanks the referee for his valuable remarks.

Acknowledgements

[1] D. H. Bond, J. S. W. Wong On uniform convergence, Proc. Amer. Math. Soc., 67(1978), 429–434.

[2] A. Bond, Upper Semic in Classes of increasing mappings, J. Math. Anal. Appl., 10 (1968), 62–68.

[3] S. Balak, Monotone characteristic functions, Math. Sci. Ser., 1 (1973), 35–42.

[4] C. S. Wong, Generalized convergence and fixed point theorems, Proc. Amer. Math. Soc., 48 (1975), 401–403.

Author's address: 41 000 Balak-Balak, Subotica, Vojvodina, SR, Poland.